Section 3 Session 9

[ A | ‘ e ANSWER 7 L4 times 2? 1

8 9 times 57 |

1 = p |
9 50 shared by 10?

2 = p 10 2 divided by 2?

3 - AN C | ANSWER

I = p

5 = p

6 12+ 2 =

72 15+5 = Write the totals.

8 30-+10 = 1 5 boxes of oranges. ‘

Q9 18+2 = 2 6 boxes of apples.

10 35+5 = 3 3 boxes of pears. |

L 7 boxes of oranges.

(B | ' ANSWER

T e 5 8 boxes of pears.
1 6 multiplied by 5? 6 9 boxes of apples.
2 7 multiplied by 10? 7 10 boxes of oranges.
3 10 multiplied by 27? Thisia aie
L 25 divided by 5? 8 40 oranges. How many boxes?
5 14 divided by 2? 9 20 apples. How many boxes?
6 40 divided by 10? 10 4 pears. How many boxes?




